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Rabi Yosee said; five are exempt, more than five are liable

Overview

The X711 cited the various opinions as to how much flour is needed to be 2171 in
7on. The onan ruled that we need five 137 (a 2p and a fourth).! 017 "1 maintains we
need slightly more than five 1x%. Our moon explains the view of >"1.
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For > maintains that when the P05 stated 229099 nNYwKA it meant that when

7o will be separated from the dough, there will still remain 927% no%y 575 (which
is five 129).
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And the n''1 says that we should not erase this which the X713 states in %92 pap

%173 and in 7792 W8 9D -
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Where the X713 mentions 7 292 Wi are 2n in 179n, the text is correct, for
that ruling is according to >''=.

Summary
DY " requires 1271 N0 °7 after the 1771 is separated.

Thinking it over
Should we infer from NN that the 7597 is like *"1?7

! This is the measure in >119% n7A (see "W here).

2 This is different from 7w 7wnn 7" "wAs.

3 The 7272 no*w is the W which is a tenth of an 779°X (18 n17271 P2p). Therefore we need more than five P37 in order
that when one takes off 791 there will still remain five 19% 125

4 See nwnn "7 2,Mm 2°’nod 'o1n, where he writes that >"wA is not "7 0MA.

3 This should be amended to 2,1v.

6 This should be amended to 2,7.

7 See nyaw 71"7 2,30 P17y 'o1n and the 1"v7 "5 0102 i " ann.
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